LASER MASTER 2 S2






THANK YOU!

Dear friends,
Thank you for purchasing the Ortur Laser Master 2 52 laser engraver. wWe really appreciate your recognition
and sincerely hope you enjoy this product.

ORTUR is a company specializing in the manufacture and research of laser engraving machines. At
present, ORTUR's products are sold all over the world, occupying & leading position in the industry. We
bring you the road of innovation with professional technology and services!

ORTUR's mission is to expand and innovate in the field of laser engraving to make its machines safer,
faster. Most importantly, affordable for everyone. Help small makers, studio artists, engineers and
freelancers grow their businesses and generate mare income.

If you have any questions, please feel free to let us know and we will be here to help you. You can jain our
Facebook group, which brings together innovatars like you to share their ideas and get inspired by others.

Thank you again for your support, we will continue to pravide quality products and services!



Content
- Inhalt FR - Contenu

Disclaimer and Safety Guidelines / Haftungsausschluss und Sicherheitsrichtlinien - 3
/ Clause de nan-responsabilité et consignes de sécurité

Package Contents / Packungsinhalt / COntenu du Colis -t s s e 6
Install the Machine / Installieren Sie den Laser / Installer I'appareil - 12
Install the Laser Module / Installieren Sie das Lasarmodul ~---——rrrmrmmsm s s e s mmmimesees 25

/ installer le module laser

Important Note / wichtiger Himweis / ReMArque IMPOTANLE s rmsss ot esasos s s 44

Port Description / Anschlisse / Désignation des ports

Quick Start / Schnellstart / DEMArrage rapide i s s s s s s 47

Mcn:llfyparametets before USIﬂg YRRZ [ w=reeemenennsansnane T
/ Andern Sie die Parameter, bevor Sie YRR2.0 vemenden
/ Modifier les parameétres avant d'utiliser YRR2.0

[en] The pictures in this manual are for reference only. Please refer to the material object received!
Die Bilder in dieser Anleitung dienen nur als Referenz. Bitte beziehen Sie sich auf das erhaltene Material!
Les images de ce manuel sont fournies a titre de référence uniquement. Veuillez vous référer a l'objet matériel regu !



Disclaimer and Safety Guidelines '

DE - Haftungsausschluss und Sicherheitsrichtlinien
FR - Clause de non-responsabilité et consignes de securité

I

1. The laser engraver could generate laser light. It is strictly forbidden to place any living body under the laser
emission port (this port is marked with & yellow warning sign).
2. Patients with photosensitive epilepsy are prohibited from using or approaching the laser device.
3. when using the laser engraving machine, the operator and anyone near the machine must wear laser safety
lasses. Do not gperate the laser without glasses protection (laser goggles).
ur machlriles come with a pair of safety goggles, but additional laser safety glasses can be purchased
commercially. ) : .
Reguirements for goggles: wavelength protection 400-445nm (+-5nm), outer diameter +5, minimum L-level LS.
4., when the laser engraver is working, the operator must pay close attention and not place it alone to prevent the
engraved matenial from catching fire, o
Please set up the laser Engraver in a fireproof area and ensure good ventilation.
If possible, we recommend that you purchase a fire extinguisher and keep it close to the machine.
-7 Lfsinqhthe laser engraver in a room that can be closed by a door, making sure that neither the laser beam nor
stray light can penetrate the window.
6. When using the laser engraver, put the door sign or the warning light on the doar to indicate that the laser
engraver is running.
EH Makeﬁure there is no flammable material near the |laser engraver, we recommend put a fireproof mat under
2 machnine.
8. Ensure adequate environment when operating the laser engraving. Engraving certain malterizls may generate
fumes, which should be exhausted by a dedicated filtered exhaust.
9. wWhen the machine is running, do not touch the laser beamn or touch it with other objects, which may cause
serious bodily injury or beam reflection. _ )
Do not touch the radiatar, you may burn your body and hands when the laser engraver just stops working.
10. Do not let children or teenagers use the |aser engraver alone (especially children under the age of 14), adult
supervision is required at all times,
1. Fgr Lcnmmercial use, using and registering with regulatory authorities and professional associations is
mandatory.
12. The operating temperature range of the machine is -15°C ~ 30°C.
13. There would be a high risk of fire, when the laser irradiates the engraved object. If the laser engraver is
working, it must be taken care of at all imes by the skilled operator, who knows how to use a fire extinguisher, so
that any unexpected situations could be dealt with in time.

-03-



1. Der Lasergravierer kdnnte Laserlicht erzeugen, Es ist strengstens verboten, lebende Karper unter die Laseremissionsgff-
nurng zu bringen (diese Offnung ist mit ginem gelben Warnschild gekennzeichnet),

2. Patienten mit lichtempfindlicher Epilepsie ist s untersagt, das Lasergerdt zu verwenden oder sich ihm 2u nahern.

3. Bei der Verwendung der Lasergravurmaschine mussen der Bediener und alle Personen in der Nahe der Maschine eine
Laserschutzbrille tragen. Betreiben Sie den Laser nicht ohne Brillenschutz (Laserbrille).

Unsere Maschinen werden mit einer Schutzbrille geliefert, aber zusatzliche Laserschutziorillen kbnnen im Handel erworben
werden.

Anforderungen an Schutzbrillen: wellenlangenschutz 400-445 nm (+-5 nm), AuBendurchmesser 45, mindestens L-Level
LS.

4, wenn der Lasergravierer arbeitet, muss der Bediener genau aufpassen und ihn nicht alleine platzieren, um zu
verhindern, dass das gravierte Material Feuer fangt.

Bitte stellen Sie den Lasergravierer in einem feuersicheren Bereich auf und sorgen Sie fir gute Beltftung.

Wenn maglich, empfehlen wir hnen, einen Feuerddscher zu kaufen und ihn in der Mahe der Maschine aufzubewahren.

5. Verwenden Sie den Lasergravierer in einem Raum, der durch eine Tur geschiossen werden kann, und achten Sie darauf,
dass weder der Laserstrahl noch Streulicht durch das Fenster dringen kann.

6. Wenn Sie den Lasergravierer verwenden, bringen Sie das Tirschild oder die Warnleuchte an der Tar an, um anzuzeigen,
dass der Lasergravierer |auft.

7. Stellen Sie sicher, dass sich kein brennbares Material in der Mahe des Lasergravierers befindet, wir empfehlen, eine
feuerfeste Matte unter die Maschine zu legen.

8. Stellen Sie beim Betrieb der Lasergravur eine angemessene Umgebung sicher. Beim Gravieren bestimmter Materialien
konnen Dampfe entstehen, die durch einen speziellen gefilterten Auspuff abgefuhrt werden soliten,

9. Beruhren Sie bei laufender Maschine nicht den Laserstrahl oder berGhren Sie ihn mit anderen Gegenstanden, da dies zu
schweren Kirperverletzungen oder Strahlreflaxionen fihren kann.

Berdhren Sie den Kihler nicht, Sie kénnten sich Kbrper und Hande verbrennen, wenn der Lasergravierer einfach aufhort zu
arbeiten.

10, Lassen Sie Kinder oder Jugendliche den Lasergravierer nicht alleine benutzen (insbesondere Kinder unter 14 Jahren),
die Aufsicht eines Erwachsenen ist jederzeit erforderlich.

11. Fir die gewerbliche MWutzung st die Nutzung und Registrierung bel Aufsichtsbehbrden und Berufsverbanden zwingend
erfarderbich.

12. Der Betriebstemperaturbereich der Maschine betragt -15°C ~ 20°C.

13. Es besteht eine hohe Brandgefahr, wenn der Laser das gravierte Objekt bestrahit. Wenn der Lasergravierer funktioniert,
muss er jederzeit van einem erfshrenen Bediener betreut werden, der mit dem Umgang mit einem Feuerlgscher vertraut
ist, damit unerwartete Situstionen rechtzeitig behoben werden kénnen.

-04-




1. Le graveur laser peut générer un faisceau laser, Il est strictement interdit de placer tout corps vivant sous le port
d'émission laser (ce port est marqué d'un panneau d'avertissement jaune),

2. llest interdit aux personnes souffrant d'épilepsie photosensible d'utiliser ou de s'approcher de l'appareil laser.

3. Lars de l'utilisation de la machine de gravure laser, l'opérateur ainsi que toute personne a praximite de la machine
dowent porter des lunettes de sécurité laser. N'utilisez pas le laser sans lunettes de protection {lunettes laser).

MNos machines sont lvrées avec una paire de lunettes de sécurité, mais des lunettas de sécurite laser supplémentaires.
pauvent étre achetées dans l2 commerce.

Exliglences t[},our les lunettes : protection contre les longueurs d'onde 400-445 nm (+-5 nm), diameétre exterieur +5, niveau L
minimum L5.

4. Lorsque le graveur laser fonctionne l'utilisateur doit rester vigilant et & proximité immeédiate de |'appareil pendart toute
la durée de la gravure, pour éviter les risques d'incendie.

Veuillez installer le graveur laser dans une zone ignifuge et assurer une bonne ventilation.

Si possible, nous vous recommandons d'acheter un extincteur et de le garder & proximité de la machine.

5. Utilisez le graveur laser dans une pigce qui peut etre fermée par une porte et assureéz-vous que ni [es rayons laser nila
lumigre parasite ne peuvent penétrer par les fenétres,

6. Lorsque vous utilisez le graveur laser placez un signe sur la parte ou un avertissaur lumineux pour indiquer que le l3ser
est en fonctionnement.

7. Assurez-wous qu'il n'y a pas de matériau inflammable a proximité du graveur laser, nous vous recommandons de placer
un tapis ignifuge sous la machine.

8. Assurez-vous gue l'emvironnement est adéquat lors de |'utilisation du graveur laser. La gravure de certains matériaux
peut générer des fumées, qui dovent étre évacuées et filtrées par une évacuation dédiée.

9. Larsque la machine est en marche, ne touchez pas le faisceau laser ou ne le touchez pas avec d'autres objets, ce qui
paurrait entrainer des blessures corporelles graves ou une réflexion du faisceau.

Ne touchez pas le radiateur, vaus risquez de vous broler le corps et les mains et cela méme larsque le graveur laser cesse
de fonctionner.

10. Ne laissez pas les enfants ou les adolescents utiliser le graveur laser seuls (en particulier les enfants de mains de 14
ans), la surveillance d'un adulte est reguise a tout moment.

11. Pour un usage commercial, I'utilisation et l'enragistrement auprés des autorités réglementaires et des associations
profession- nelles sont obligatoires.

12. La plage de température de fonctionnement de la machine est de -15°C ~ 30°C,

13, Ily aurait un risque élevé d'incendie, lorsque le laser iradie 'objet gravé. Si le graveur laser fonctionne, il doit étre
surveillé & tout moment par l'opérateur qualifié, qui sait utiliser un extincteur, afin que toute situation inattendue puisse
&tre traitée & temps.

-05-




Package Contents
DE - Packungsinhalt FR - Contenu du colis

O Pre-assembled Assembly f Vormontierte
Montage / Assemblage pré-assemblé *1

0 X Aluminum Profile-464mm
/X Aluminiumprafil-464mm
/ Profil en aluminium X-464mm *2

O Base Anchors / Basisanker
/ Ancres de base *3

00 M5*20mm Screws / M5*20mm
Schrauben [ Vis M5*20mm *8

§iii

0 M5 Profile Muts / M5 Frofilmuttern
/ Ecrous profilés M5 *1

-06-

Y Limit Switch f Y-Endschalter
J Commutateur de limite ¥ *1

¥ Aluminum Profile-540mm
J Y=Aluminiumprofil-540 mm
/ Profil en aluminium Y-540mm *2

Timing Belt / Zahnriemen
{ Courroie de distribution *2

9

M5*10mm Screws / M5%10mm
Schrauben / Vis M5*10mm *S

¥

M5 Spacers / M5 Abstandshalter
/ Entretoises M5 *3

o



O Testing Acrylic / Acryl zum testen O USB Cable / USB-Kabel / Cable USE ™1

/ Plague de test en acylique ™1 @

O Testing Aluminium Sheet 00 Testing Woods / Holz zum testen
/ Prufung von Aluminiumblech / Plague de testen bais *4
/ Feuille d'aluminium d'essai *1

= =

1 2mm Allen key / 2-mm-Inbusschlissel

O Brush / Blrste / Brosse ™1 J Clé Allen de 2mm™1
R
= [
0O wrench / SchlGssel / Clé ™ O Laser Goggle / Laserbrille f Lunette Laser *1
O Cable Ties / Kabelbinder [l Power Adapter / Netzteil / Adaptateur
/ Attaches de cable *5 secteur *1

. 4
0O Split wire Loom Insertion Tool

/ Werkzeug zum Einsetzen von

geteilten Kabelbdumen

{/ Qutil d'insertion de métier &
tisser fendu *1

-07-



LU2-4-LF Laser Module

DE - LU2-4-LF Lasermodul FR - Module laser LU2-4-LF

[ LU2-4-LF Laser Module / LU2-4-LF Lasermocul
/ Module laser LU2-4-LF *1

O Laser Shield / Laser-Schild / Bouclier laser *1

O Focal Gauge / Fokusanzeige / Jauge focale ™1

|

O Air Assist / Luftunterstutzung / Buse d'air

O Pipe Connector / Rohrverbinder
{ Connecteur de tuyau *1

-08-

Screws + Mute / Schrauben + Muttern
/ Vis + Ecrous *2

R

Thumbscrew f FlOgelschraube / vis moletge 1

h

Air Flow Regulator / Luftstromregler
{ Régulateur de débit d'air ™1

")

1 Air Pipe (OD:6mm ID:4mim)

/ Luftleitung (AD: 6mm ID: 4mm)
/ Conduite d"air (OD: 6mm ID: 4mm) *1

O



[ Set Serews f Stellschrauben [0 Quick Tevist At Right Angle

1/ Vis de réglage *2 / Schnelle Drehung im rechten Winkel
/ Torsion rapide & angle droit *1
)]

0O 1.5mm Allen key / 1.5-mm-Inbusschitssel / Clé
Allen de 1.5mm *1

e
|

LU2-4-SF Laser Module
DE - LU2-4-5F Lasermodul FR - Module laser LU2-4-SF

0O LU2-4-5F Laser Module / LU2-4-5F Lasermodul [0 Focal Gauge Board / Focal Gauge Board
/ Module laser LU2-4-5F ™ / Carte de jauge focale ™1

O Thurmbscrew f Flagelschraube / Vis moletée *

h

-09-



LU2-10A Laser Module
DE - LU2-104 Lasermodul FR - Module laser LU2-104

[ LUZ-104 Laser Module f LUZ-10A Lasermodul [ Laser Shield / Laser-5child J Bouclier laser *1
/ Module laser LU2-104*1 »
O Air Assist / Luftunterstatzung / Buse d'air O Thumbscrew f Flogelschraube £ Vis moletés ™1
O Pipe Connector f Rohrverbinder O Air Flow Requlator / Luftstromreqler
/ Connecteur de tuyau *1 ! Réqulateur de débit d'air "1
[ Air Pipe (OD:6mm ID:4mm) -
/ Luftleitung (AD: 6mm |D: 4mm) O 0UC2.0/0UC2.0/0UC2.0*1

{ Conduite d'air (QD: &Bmm ID: 4mm) *1

O

aser Wire J Laserdraht / Cable laser *1

O
L

Q



O Cable Ties / Kabelbinder O Power Adapter / Netzteil / Adaptateur secteur *1

/ Artaches de cable *10
- o

[J OLM2/S2 OUC exclusive adapter cable /
OLM2/S2 OUC exklusives Adapterkabel/
cable adaptateur exclusif OLM2/S2 OUC*1

| E—

LU2-2(2.1w) Laser Module
DE - LU2-2(2.1w) Lasermodul ~ FR - LaserModule laser LU2-2(2.1w)

O LU2-2(2.1w) Laser Module / LU2-2(2.1w) Lasermodul / [J Laser Shield / Laser-Schild / Bouclier laser *1

Module laserLU2-2(2.1w) *1

[ Focal Gauge Board / Focal Gauge Board / [ Laser Wire / Laserdraht / Cable laser *1
Carte de jauge focale *1

= =

0 Thumbscrew / Flugelschraube / Vis moletee *1

——



Install the Machine
DE - Installieren Sie den Laser FR - Installer 'appareil

1.0 O XAlwminum Profile-464mm O Y Aluminum Profile-540mm
J X Aluminmiumprofil-dé4mm # Y-Aluminiumprofil-540 mm
/ Prafil en aluminium X-464mm *2 f Profil en aluminium Y-540mm *2
e e | RS e e e e

O M5*20mm Screws f M5*20mm
Schrauben f Vis M5*20mm *4

$wisiraen

2.0

Pre-assembled Assembly / Vormontierte
Montage f Assemblage pré-assemble *1




Pay attention 1
I/ achten S e I cle
‘f .".'?:-"-.'_ On au sens daes ch H'I-c. I-II

/

13-



2.1

Scale 0/ MaBstab 0 / Echelle 0



3.0

] Base anchors / Basisanker

/ Ancres de base *2

] M5*20mm Screws f M5*20mm

Schrauben f Vis M5*20mm *2

Sin e

M5 Spacers / M5 Abstandshalter
/ Entretoises MS *2

©

O Timing Belt / Zahnriemen
/ Courrgie de distnbution *2

(&

O MS*10mm Screws / M5*10mm
Schrauben / Vis M5*10mm *2

-



3.1




The timing belt passes through the wheels and presses the synchro wheel.
{ Der Zahnriemen lauft durch die Rader und drickt auf das Synchronrad,
{ La courrpie de distribution traverse Les roues et appuie sur |3 roue synchio,

17-



4.0

The pre-assembled assembly is pushed to the battom,

/ Die vormaontierte Baugruppe wird nach unten geschoben.
/ 'ensemble pré-assemblé est poussé vers le bas.

You must let both whe
{ Sie missen b

hor together!
1 Basisanker tref

ncre de base e

18-



5.0 O Base Anchor / Basisanker
/ Ancres de base ™

O M5*20mim Screw / M5 20mm
Schrauben f Vis M5*20mm *1

I

6.0 [ YLimitSwitch / Y-Endschalter
/ Commutateur de limite ¥ *1

0O M5*20mm Screw / M5*20mm
Schrauben £ Vis M5*20mm *1

I

MS5*10mm Screw f M5"10mm
Schrauben / Vis M5*10mm *1

-

M5 Spacer / MS Abstandshalter
/ Entretoises M5 *1

O

M5*10mm Screws / MS*10mm
Schrauben f Vis M5*10mm *2

-

M35 Profile Muts / M5 Profilmuttern
/ Ecrous profilés M5 *1



nemen spannent
errer la courroie de distribution!

-20-



1ing belt
nreni
urroie de distribution

21-



6.2

22-




7.0

Flip the cable over, / Drehen Sie das Kabelum, / Retournez le cable.

-23-



8.0

The screw clamps the ground wire,
/! Die Schraube kemmt das Erdungskabel.
! La vis serre le fil de terre,

Flug in the red and black cables. / SchlieBen Sie die roten und schwarzen Kabel an.
/ Branchez les cables rouge et noir.

-24-



Install the LU2-4-LF Laser Module
DE - Installieren Sie das LU2-4-LF Lasermodul FR - Installer le module laser LU2-4-LF

[ LUZ-4-LF Laser Madule f LU2-4-LF Lasermodul

Screws + Nuts / Schrauben + Muttern

/ Module laser LU2-4-LF *1 / Vis + Ecrous *2
O Laser Shield / Laser-Schild f Bouclier laser *1 O Thumbscrew f Flogelschraube / Wis moletée ™1

n P

1.

-25-



1.1

Tighten the thumbscrews!
! Flugelschraube festziehen!
{ Serrez les vis maletées|

-26-



1.2

-27-

The screw clamps the ground wire.
[ Die Schraube klemmt das Erdungskabel.
I La vis serre le fil de terre.




Install the LU2-2(2.1w) Laser Module
DE - Installieren Sie das LU2-2(2.1w) Laser modul FR - Installer le Module laser LU2-2(2.1w)

[ LU2-2(2.1w) Laser modul / LU2-2(2.1w) Lasermodul O Focal Gauge Board / Focal Gauge Board
/ Module Laser LU2-2(2.1w) { Carte de jauge focale *1

O Thumbscrew / Flogelschraube / Vis moletée ™1

-28-



11

Nighten the thumbscrews!
/ Fligelschraube festziehen!
f serrez les vis moletses!

-29-



1.2

The screw
[ Die 5ch

clarmps the ground wire.
sube klemmt das Erdungskabel.
e fil de terre.

-30-



1.3 How to Use the Focal Gauge | Verwendung des Fokalmessgerats | Comment utiliser la jauge de focalisation

1) 2) 3)

Before engraving or cutting objects, please find the focus of the laser module and focus according to
steps 1 and 2! After focusing, the focus gauge board must be removed, as shown in step 3.

Vor dem Gravieren oder Schneiden von Objekten miissen Sie den Fokus des Lasermoduls ermitteln

und gemal Schritt 1 und 2 fokussieren! Nach der Fokussierung muss die Fokusmessplatte entfernt
werden, wie in Schritt 3 gezeigt.

Avant de graver ou de découper des objets, repérez le foyer du module laser et procédez a la mise au

point conformément aux étapes 1 et 2 ! Apres la mise au point, la carte de la jauge de mise au point
doit étre retirée, comme indiqué a l'étape 3.

1.4 maintain your Laser Module | Wartung lhres Lasermoduls | Utilisation de Fomeétre

If the laser module is not used for a long time or is used for more than 30 hours, clean the
lens with medical alcohol and cotton swab. Unclean lenses can weaken the power of the
laser.

Wenn das Lasermodul ldangere Zeit nicht benutzt wird oder langer als 30 Stunden in
Betrieb ist, reinigen Sie die Linse mit medizinischem Alkohol und einem Wattestdbchen.
Ungereinigte Linsen kdnnen die Leistung des Lasers schwachen.

Si le module laser n'est pas utilisé pendant une longue période ou s'il est utilisé pendant
plus de 30 heures, nettoyez la lentille avec de l'alcool médical et un coton-tige. Les
lentilles non nettoyées peuvent affaiblir la puissance du laser.

-31-



Install the LU2-4-5F Laser Module
DE - Installieren Sie das LU2-4-SF Lasermodul FR - Installer le module laser LU2-4-SF

O LUZ-4-5F Laser Module / LU2-4-5F Lasermodul [0 Focal Gauge Board / Focal Gauge Board
/ Module laser LU2-4-5F *1 / Carte de jauge focale *1

O Thumbscrew ! Fligelschraube / Vis moletée "1

h

-32-



1.1

Tighten the thumbscrews!
[/ Fliigelschraube festziehen!
f serrez les vis moletées!

-33-



1.2

-34-

The screw clamps the ground wire.
[ Die Schraube klemmt das Erdungskabel.
I La vis serre le fil de terre.




1.3 How to Use the Focal Gauge | Verwendung des Fokalmessgerats | Comment utiliser la jauge de focalisation

1) 2) 3)

Before engraving or cutting objects, please find the focus of the laser module and focus according to
steps 1 and 2! After focusing, the focus gauge board must be removed, as shown in step 3.

Vor dem Gravieren oder Schneiden von Objekten miissen Sie den Fokus des Lasermoduls ermitteln
und gemaf Schritt 1 und 2 fokussieren! Nach der Fokussierung muss die Fokusmessplatte entfernt
werden, wie in Schritt 3 gezeigt.

Avant de graver ou de découper des objets, repérez le foyer du module laser et procédez a la mise au
point conformément aux étapes 1 et 2 ! Apres la mise au point, la carte de la jauge de mise au point
doit étre retirée, comme indiqué a l'étape 3.

1.4 maintain your Laser Module | Wartung Ihres Lasermoduls | Utilisation de Fométre

If the laser module is not used for a long time or is used for more than 30 hours, clean the
lens with medical alcohol and cotton swab. Unclean lenses can weaken the power of the
laser .

Wenn das Lasermodul léngere Zeit nicht benutzt wird oder ldnger als 30 Stunden in
Betrieb ist, reinigen Sie die Linse mit medizinischem Alkohol und einem Wattestabchen.
Ungereinigte Linsen kénnen die Leistung des Lasers schwéchen.

Si le module laser n'est pas utilisé pendant une longue période ou s'il est utilisé pendant
plus de 30 heures, nettoyez la lentille avec de ['alcool médical et un coton-tige. Les
lentilles non nettoyées peuvent affaiblir la puissance du laser.

-35-



Install the LU2-10A Laser Module
DE - Installieren Sie das LU2-104 Lasermodul FR - Installer le module laser LU2-104

[ LUZ-104 Laser Module f LUZ-10A Lasermodul Laser Shield / Laser-Schild / Bouclier laser *1

/ Module laser LU2-104*1 X

O Thumbscrew / Fligelschraube / Vis moletée *1 [} 0UC2.0/0UC2.0/0UC2.0"1

S~ i

1 Laser Wire / Laserdraht / Cable laser *1

O Power Adapter / Netzteil / Adaptateur secteur ™1

O Cable Ties f Kabelbinder
I Attaches de cable *4

(6=

[J OLM2/S2 OUC exclusive adapter cable /
OLM2/S2 OUC exklusives Adapterkabel/
cable adaptateur exclusif OLM2/S2 OUC*1

E B

-36-



1.0

H\ Use the dedicated adapter cable according to m 8pin
your own model.

) ) ) €| 8pol.
@ verwenden Sie das spezielle Adapterkabel fiir Ihr
eigenes Modell. 7R| 8 broches
[EN\ utilisez le cable adaptateur spécifique a votre
modele.

ﬂ Dedicated Laser cable
DE\ dediziertes Laserkabel

[FR] cable laser dédié

EN| 24V 2A Power Adaper
E 24V 2A Stromadapter

ﬂ adaptateur d'alimentation
24V 2A

EN‘ The OUC2.0 normal adapter board must be connected
to the 24V 2A power adapter provided in the kit. (When
using the LU2-10A laser module, two 24V 2A power
adapters must be used at thesame time! )

DE\ die normale OUC-Adapterplatine muss an das im Kit

enthaltene 24V 2A Netzteil angeschlossen werden. [EN\ Please bundle the OUC2.0 in a suitable location to ensure that it does not affect
(Bei Verwendung des Lasermoduls LU2-10A miissen the operation of the machine, including power cable and laser wire.
i 24V 2A St dapt leichzeiti det

@I\:&en‘ ) romadapter gleichzeitlg verwende \E Bitte biindeln Sie die OUC2.0 an einem geeigneten Ort, um sicherzustellen, dass

o . R sie den Betrieb des Geréts nicht beeintréchtigt, einschlieBlich des Netzkabels und

fR|la carte d'adaptation normale OUC2.0 doit étre des Laserkabels.

connectée a l'adaptateur d'alimentation 24V 2A fourni A . o .
dans le kit. (Lors de l'utilisation du module laser [FR‘ veuillez emballer 'OUC2.0 dans un endroit approprié afin qu'il n'affecte pas le
LU2-10A, deux adaptateurs d'alimentation 24V 2A fonctionnement de la machine, y compris le cable d'alimentation et le cable

doivent étre utilisés en méme temps ! ) laser.

-37-



1.1 ConnectOUC2.0 | OUC2.0verbinden | Connecter OUC2.0

Remove the laser power cord/
Dass der laser den stromfluss lahmgelegt hat/
Retirez le cordon d’ alimentation laser

Install an OLM2/S2 OUC conversion cable/
Ererhdhen sie die power m2 /S2, in richtung kabellos/
Installer un cable de conversion OLM2/S2 OUC

-38-



1.2

[en] Cable Ties *2
[oe| Kabelbinder *2
[FR] attaches de céble *2

It is recommended to use cable ties to secure the cables.
/ Es wird empfohlen, Kabelbinder zu venwenden, um die Kabel zu sichern.
{ Il est recommandé d'utiliser des serre-cables pour fiker les cables.

-39-



13

s0mm

lighten the thumbscrews!
! Flugelschraube festziehen!
! Serrez les vis moletées!

-40-



1.4 How to Use the Focal Gauge | Verwendung des Fokalmessgerats | Comment utiliser la jauge de focalisation

To install the laser shield, the long clip must be inserted into the wide
card slot first.

[bE| Um das Laserschild zu installieren, muss die lange Klemme zuerst in
den breiten Kartenschlitz eingefiihrt werden.

[rr| Pour installer le bouclier laser, le clip long doit d"abord étre inséré
dans la fente large de la carte.

[en] Focal Gauge Rod

[oe] eingraviertes Objekt oe] fokale Messlatte
[fr] objet gravé [Fr] tige de jauge focale

After installing the long clip, firmly press one side of the short clip to
let the short clip enter the narrow card slot.
[og]

E
nach der Installation des langen Clips driicken Sie leicht auf eine Seite
des kurzen Clips, damit der kurze Clip in den schmalen Kartenschlitz
eingefiihrt werden kann.

[FR] Aprés avoir installé le clip long, appuyez fermement sur un cété du

clip court pour le faire entrer dans la fente étroite de la carte.

41-



1.5 How to connect the air pump | Wo ist die luftpumpe | Comment connecter la pompe a air

o

[en] No need to install air assist when not using an air compressor.
keine Notwendigkeit, Luftunterstuitzung zu installieren, wenn kein Luftkompressor verwendet wird.
il n'est pas nécessaire d'installer |'assistance pneumatique lorsque vous n'utilisez pas de compresseur d'air.

ElE]

[n] You only need to remove the rubber plug
whenair assist is used. Please install the

: rubber plug when air assist is not used.
o€ Sie miissen nur den Gummistopfen entfernen,
wenn die Luftunterstiitzung verwendet wird.
! Bitte installieren Sie den Gummistopfen, wenn
die Luftunterstiitzung nicht verwendet wird.

[/ il suffit de retirer le bouchon en caoutchouc
lorsque 'assistance pneumatique est utilisée.
Veuillez remettre en place le bouchon en
caoutchouc lorsque l'assistance pneumatique
n'est pas utilisée.

o
2

[EN] The pipe joint is connected to the air
compressor (it is recommended to use
an air compressorwith an air flow of
40L/min)

die Rohrverbindung wird an den
Luftkompressor angeschlossen (es wird
empfohlen, einen Luftkompressor mit

[en] Air Flow Regulator
oe| der Luftstromregler
rr| régulateur de débit d'air

=]
-

einer Luftmenge von 40L/min zu ——
verwenden)
rr| le joint du tuyau est connecté au .
~ compresseur d'air (il est recommandé 8/ Pipe Connector
d'utiliser un compresseur d'air avec un [e|Rohrverbinder
débit d'air de 40L/min). [rR|connecteur de tuyau

-42-



1.6 Maintain your Laser Module | Pflegen Sie lhr Lasermodul | Entretien du module laser

If the laser module is not used for a long time or is used for more than 1
O hours,clean the lens with medical alcohol and cotton swab.
Unclean lenses will weaken the power of the laser.

Wenn das Lasermodul ldngere Zeit nicht benutzt wird oder ldnger als 1
O Stunden in Betrieb ist, reinigen Sie die Linse mit medizinischem
Alkohol und einem Wattestabchen.

Ungereinigte Linsen schwachen die Leistung des Lasers.

Si le module laser n'est pas utilisé pendant une longue période ou s'il
est utilisé pendant plus de 10 heures, nettoyez la lentille avec de 'alcool
médical et un coton-tige.

Les lentilles non nettoyées affaiblissent la puissance du laser.

1.7 How to change the lens for LU2-10A | Auswechseln des Objektivs bei LU2-10A |
Comment changer la lentille pour LU2-10A

Remove it
Entfernen Sie es

Retirer la lentille

-43-



Important Note
DE - wichtiger Hinweis FR - Remarque importante

2.0 If you are using win7 or wing system, you need ta install the driver manually.
f Wenn Sie ein Win7- oder Wing-System verwenden, mussen Sie den Treiber manuell installieren.
I Sivous utilisez le systéme win7 ou wing, vous devez installer le pilote manuellement.

2.1 Please turn on the machine and connect the computer with a USB cable before starting!
/ Bitte schalten Sie die Maschine ein und verbinden Sie den Computer mit einem USB-Kabel, bevior Sie beginnen!
! Veuillez allumer la machine et connecter I'ordinateur avec un cdble USB avant de commencer!

2.2 Download Links / Download links / Liens de téléchargement: https://zadig.akeo.ie/

The downloaded driver must be version 2.5! )
I Der hElUI’\lEng:.aS'eII"IE Tlﬁlbel muss Version 2.5 sein!
[ Le pilote téléchargé doit étre la versian 2.51

2 B 2 (= ]
Device [Options | Help
| ¥ List All Devices e
(vMmar  Ignore Hulbs or Composite Parents =|
ﬁ v Create  Catalog File
Ot 7 Gion Catalog & Install Auogenerated Certificate e
B TREEE USBIC Advanced Mode Eush-ven(3
wem,  Log Verbosity y | et -
5 davicas ol |

Please run the driver with administrator privileges.
/ Bitte fUhren Sie den Treiber mit Administratorrechten aus.
[ Veuillez exécuter e pilote avec des priviléges d'administrateur.

-44-



Zadig 25730

Select "Espressif CDC Device gmerfa-:e o
! wWahlen Sie . Espressif COC Device (Interface 0) " aus.
/ Sélectionnez "Espressif CDC Device (Interface 0)°

3 devices found.

Zadig 25730 ||

Select "USB Serial (CDC)" from the list of drivers available, click the Install Driver button, and wait for the
installation to compl

/ wahlen Sie USB

rial (CDC) " aus der Liste der verfligbaren Treiber, klicken Sie auf die Schaltflache Treiber
installieren und warten Sie, bis die Installation abgeschlossen ist,

I Sélectionnez "USE Serial (CDC)" dans la liste des pilotes disponibles, cliquez sur le bouton Installer le pilote
et attendez L3 fin de ['installation.

-45-



Port Description
DE - Anschlilsse FR - Désignation des ports

. Reset Button / Reset-Taste 2. Power Input / Stromeingans

I Bouton de reinitialisation f Entrée d'alimentation
3. USB Port / USB-Anschluss 4_Qffline Controller / Cffline-Controller
/ Port USB f Contrdleur hars ligne

5. Main Power Button (Press and hold ft
[ Hauptnetzschalter (Zum Einschalten
/ Bouton d'alimentation principal (App

e e 1
5 seconds to power on!)

2n gedriickt h
2t maintengz p

T ||
ant 5 secondes pour allumert)

-46-



Quick Start
DE - Schnellstart FR - Démarrage rapide
LaserGRBL is a free and open source software that supports Windows computers.

/ LaserGREL st eine kostenlose Open-Source-Software, die Windows-Computer unterstuezr.
f LaserGRBL est un logiciel gratuit et open source qui prend en charge les ordinateurs Windows.

1.0: Download Link: https: //lasergrbl.com/
/ Download-Link: https://lasergrbl.com/ ! ER
f Lien de téléchargement : https://lasergrbl.com/ R

2.0: Connect / Verbinden / Connecter

L

4 LaserGREL v4.8.0

Grbl File Colors Language Tools Open LaserGRBL and connect the machine.

COM [COM3  |Baud 115200 { Offnen Sie LaserGRBL und verbinden Sie die Maschine.
{ Quvrez LaserGRBL et connectez la machine.

Filename v
2.1: Unlock / Entsperren / Déverrauiller

- s W o

000

Lows: o|u« |:m13_-= = S (1.008G1 (100050 (100 States:

-47-



3.0: choose engraving picture / Wahlen Sie ein Gravurbild / Choisissez 'image de gravure

* Open

Digaize = Pituen [=IC. - ]

g
3 W The internet
Filerame (i sectprg | iy suppemed B ©retione
[ Dpen ) 3
L )

4.0: Engraving Settings / Gravureinstellungen / Parametres de gravure

& Impart Raster image

Farmstarn

Baniza Zmaath (N Bimehd o}
[ P TI pr— -
Brightanar —

Please check the settings by serial number!
{ Bitte Uberprifen Sie die Einstellungen anhand der Seniennummier]
£ Veuillez vérifier les parametres par numéno de série!l

Contruak —

Wi Clip

(] ]

T
-t 1]
) Wacteriee®
O Camnarline
O Pamnthrengh
Lina To Line By van

A Beehrwyd

2: The greater the quality, the darker the color.
/ Je hoher die Qualitat, desto dunkler die Farbe.
/ Plus la qualité est élevée, plus la couleur est foncée.

-48-



Targetimage B

S 4: If the color of the engraving effect is lighter, please

T o reduce the speed ) )
e —— (Maximum supported speed is 3000mm/min)
Laxar Options
[Liaer Beds w8 - pomic Fover J———f——— 5! M4 is dynamic power, please select it
40N 0 | oos a .
Fax md | wom  |————— 6. Control the light output power of the laser module.
o Sioe wad Foaiien (sl If the engraving effect is too dark or burnt, lower its value!
[ datssiza 300 | w1 EOQ
7: Resize the engraving image
Offut TO0  (YBE  adp

Cancal 8: Generate for engraving

5.0: Cut Settings / Schnitteinstellungen / Paramétres de coupe

A R el g Please check the sattings by serial number!
iy hei= &) [ Bitte Oberpriifen Sie die Einstellungen anhand der Seriennummer!

Eavins Emsath (B Bioehi ) . 3 5 % :
it | e { Veuillez vérifier les parametres par numéro de série!

Figtans | —
Tearrast —
hits Clip  EE——
(o)
Conrarsion Taal
) Liss Ta Lise Tracing
. Akin 19 Biahering
1 Q Vesterize:
‘Caakarli
) Fannthrongh
L R T
Spet Baseal  © <O
Snasthing I (m

-49-



3: Theslower the speed, the deeper the cutting effect, but

Targetimage the object may be burned!

Srmd Therefore, the cutting speed cannot be slowed down indef-
[Border Speud 100 wninia |————— jnitely, and a minimum of 100mm/min is recommended.
Later Opticas

[Erer B8 - castas Foeer J———@—— 4 M3 /s constant power, please select it

x ?m ?,',:.‘o. ] 5: Control the light output power of the laser module.

S STl T Al If the engraving effect is too dark or burnt, lower its

Datwisn 35 w1 [0 value!

[fie w0 wota | J—— 6 Resizethe cuttingimage
Offset X 0.0 (¥ 00 |age

Suncel 7: Generate for cutting

5.0: Start engraving or cutting / Beginnen Sie mit dem Gravieren oder Schneiden
/ Commencez a graver ou a découper

4 LaserGRBL v4.8.0

Grbl Fle Colors Language Tool
COM COM3 Baud 115200

-50-



Modify parameters before using YRR2.0
DE - Andern Sie die Parameter, bevor Sie YRR2.0 verwenden
FR - Maodifier les paramétres avant d'utiliser YRR2.0

4 LaserGREL v4.8.0
Grbl File Colors Language Tools

3 Takuw | e i
1 . |maas e e b [TO
e Eacaanie:t b = ke
@ Reset : ) " | :m—--n-—n-u-m..._‘
# Homing B s i e |
@ Unlock i restaan Enasies sofn limice checks withis machin.
= = i | ma | Wi ansdled LEBLYALY DALES BEHLN AN..
o0 Grbl Configuration Jfosecren) A Bostian iimisg criie. Bewelive L sl
T etings | Eoenaeae |
nmd Memleg seineh Ssbousgs deley | Illllm momrmmmmnm..
D Hotkeys for nel| T T L ANTEATS MistanEe AFTAN SEASSELDE LTS . ‘
A Exit | P E""' a-}"" m“" -}yd—a—und-lil uﬂ""—J
1: Click "Grbl Configuration”. 2: Change the "Value® of * 522' to 0.
/ Klicken Sie auf .Grbl-Konfiguration ", { Andern Sie den "Wert® von *$22" auf 0,
/ Cliquez sur "Configuration Grbl". { Remplacez la "Valeur® de "$22° par 0.

mm ] \_E wite | :Sﬁhﬂ ! |mmn | 24 Close

3: Click "write® to save the modification, and then click "Refresh” to check whether the modification is successful.
I Klicken Sie auf ,Schreiben “, um die Anderung zu speichern, und klicken Sie dann auf , Aktualisieren *, um zu
priifen, ob die Anderung erfolgreich war.

I Cliquez sur "Ecrire* pour enregistrer la modification, puis cliquez sur "Actualiser* pour vérifier si la modification a réussi.

when not using YRR2.0, please restore the parameters to the initial values!
I Wenn Sie YRR2.0 nicht verwenden, setzen Sie die Parameter bitte auf die Anfangswerte zurtick!
/ Lorsque vous n'utilisez pas YRR2.0, veuillez restaurer les paramétres aux valeurs initialas |

-51-



Company: Dongguan Ortur Intelligent Technology Co., LTD.

Address: Building 4, No. 6, Tianheng Road, Changping Town,
Dongguan City, Guangdong Province

www.orturtech.com

CEEe

Youtube Instagram Twitter Facebook Support

EDA CEFED ¥ 2 @="<=M RoHS &8






RTUR



